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public static int karamba (int k , int[] a , int s , int €)

{
if (s==¢)
if (a[s] > k)
return a[s];
else
return 0;
else
{
int pl = karamba (k, a, s, (s+e)/2);
int p2 = karamba (k, a, ((s+e)/2) + 1, ¢);
return pl + p2;
}
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System.out.println(karamba (6 ,a, 1 ,5));
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public static void sod1(Queue <Integer> qu, Stack <Integer> st)

{ if (! (qu.isEmpty()))
{
int X = qu.remove ();
sod1(qu, st);
st.push (x);
qu.insert (x);
by
¥
public static void sod2(Queue<Integer> qu , Stack < Integer> st)
{ if (! (qu.isEmpty ()
{
int x = qu.remove ();
sod2(qu, st);
int y = st.pop();
qu.insert(x +Y);
}
}
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Stack <Integer> myStack = new Stack <Integer> ();
sod1(myQueue , myStack);
sod2(myQueue , myStack);
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public static boolean secretl (int num, int digit )

{
if (num < 10}
return ( num % 2 == digit % 2 );
if (num % 2 !'=digit % 2 )
return false;

return secretl ( num / 10, digit) ;
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public static boolezin secret2 ( Stack <Integer> s )

d
boolean ok;
int x;
if (sisEmpty () )
ok =true ;
else
{ z
x=spop();
if (! (secretl (x,x % 10)) )
ok = false;
else
ok = secret2 (s);
}

return ok ;
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